



Determinants of Suboptimal Hemoglobin Response to Oral Iron Supplementation among Pregnant Women with Anemia in Primary Midwifery Care

Adriana Bangun^{1*}, Achmad Zulfikar Siregar², Eka Ristin Tarigan³, Adelina Fitri Tanjung⁴, Putri Yolanda Situmorang⁵, Merry Lumban Gaol⁶

^{1,3,4,5,6}Diploma III Midwifery, Mitra Sejati College of Health Sciences, Medan, Indonesia

²Department of Hospital Administration, Mitra Sejati College of Health Sciences, Medan, Indonesia

*Corresponding Author: adrianabangun1988@gmail.com

Article History

Manuscript submitted:

27 August 2025

Manuscript revised:

29 November 2025

Accepted for publication:

09 December 2025

Manuscript published:

15 December 2025

Keywords:

anemia in pregnancy;
iron supplementation;
hemoglobin response;
compliance;
primary midwifery care.

Abstract

Background: Iron deficiency anemia remains a major public health problem during pregnancy, particularly in low- and middle-income countries. Although oral iron supplementation is the standard treatment in Indonesian primary midwifery care, many women fail to achieve an adequate hemoglobin response. **Objective:** This study aimed to identify determinants of suboptimal hemoglobin response, defined as a hemoglobin increase of less than 1 g/dL after 90 days of oral iron supplementation, among pregnant women with anemia in primary midwifery care in Medan. **Methods:** An analytical cross-sectional study with prospective hemoglobin follow-up was conducted in seven primary midwifery care units involving 286 pregnant women with mild-to-moderate anemia. Data were collected using structured questionnaires, dietary assessments, compliance records, and maternal health records. Hemoglobin levels were measured at baseline and after 90 days. Multiple logistic regression was performed to identify independent determinants. **Results:** Suboptimal hemoglobin response occurred in 42.3% of participants. Independent determinants included poor adherence to iron supplementation (AOR = 5.34), low dietary iron intake (AOR = 4.52), tea or coffee consumption after meals (AOR = 3.71), moderate baseline anemia (AOR = 3.29), fewer than four antenatal care visits (AOR = 2.84), and inadequate nutritional counseling (AOR = 2.56). **Conclusion:** Behavioral, nutritional, biological, and service-related factors jointly influence hemoglobin response. Strengthening adherence monitoring, nutritional counseling, and risk-based screening within primary midwifery care may improve treatment outcomes among pregnant women with anemia.

Copyright © 2025, The Author(s)

This is an open access article under the CC BY-SA license



How to Cite: Bangun, A., Siregar, A. Z., Tarigan, E. R., Tanjung, A. F., Situmorang, P. Y., & Gaol, M. L. (2025). Determinants of Suboptimal Hemoglobin Response to Oral Iron Supplementation among Pregnant Women with Anemia in Primary Midwifery Care. *Media of Health Research*, 3(3), 137-152. <https://doi.org/10.70716/mohr.v3i3.728>

Introduction

Anemia during pregnancy remains one of the most persistent and consequential public health problems of the twenty-first century, disproportionately affecting women in low- and middle-income countries. The World Health Organization estimates that approximately 36.5% of pregnant women worldwide are anemic, with the highest burden concentrated in South Asia, sub-Saharan Africa, and parts of Southeast Asia (World Health Organization, 2023). Despite decades of intervention through universal iron and folic acid supplementation programs, global progress toward the World Health Assembly target of a 50% reduction in anemia among women of reproductive age by 2030 has stalled substantially (Stevens et al., 2022). Maternal anemia contributes to an estimated one-fifth of maternal deaths, and to a substantial share of preterm births, low birth weight infants, and impaired neurodevelopmental outcomes in offspring (Young et al., 2022; Georgieff, 2023).

In Indonesia, the burden of anemia in pregnancy has remained stubbornly high. National Basic Health Research (Riskesdas) reported that the prevalence of anemia among pregnant women rose from 37.1% in 2013 to 48.9% in 2018, and more recent facility-based data from the Ministry of Health suggest that between 40% and 55% of pregnant women continue to be anemic despite active supplementation programs (Ministry of Health of the Republic of Indonesia, 2022; Sungkar et al., 2022). In North Sumatra Province, cross-sectional surveys in primary care settings have documented prevalence figures between 42% and 51%, with the highest burden reported in urban peri-poor neighborhoods where nutritional transitions coexist with limited dietary diversity (Sinaga et al., 2023).

The cornerstone of the Indonesian national anemia control strategy is the provision of at least 90 iron and folic acid tablets during pregnancy, each containing 60 mg of elemental iron and 400 µg of folic acid, distributed principally through primary midwifery care (Puskesmas and Praktik Mandiri Bidan). Under conditions of adequate compliance and absorption, oral supplementation should raise hemoglobin concentration by approximately 1 to 2 g/dL within four to eight weeks (Pavord et al., 2020; Auerbach & Adamson, 2022). Yet in real-world clinical practice, a considerable fraction of women fail to reach this therapeutic benchmark, a phenomenon increasingly labeled as suboptimal or refractory hemoglobin response.

Suboptimal hemoglobin response is not a trivial concern. It signals a persisting iron-deficient erythropoiesis, delays recovery from anemia, and prolongs exposure of the mother and fetus to the well-documented consequences of hypoxia and impaired oxygen delivery (Api et al., 2022; Muñoz et al., 2023). More importantly, it undermines the biological rationale of the entire supplementation program and, if unrecognized by primary care providers, may lead to fatalistic acceptance of anemia as an inevitable feature of pregnancy in low-resource settings.

Existing literature has identified multiple potential contributors to poor hemoglobin response, but they have most often been examined in isolation. Behavioral factors such as nonadherence to the daily regimen, discontinuation because of gastrointestinal side effects, and morning sickness have been described in several cohorts (Georgieff et al., 2022; Tayo et al., 2023). Nutritional determinants, including low dietary iron intake, insufficient vitamin C, and the consumption of tea or coffee within one hour of iron intake, have long been recognized to reduce non-heme iron bioavailability by 40–60% (Piskin et al., 2022; Moretti et al., 2023). Biological

determinants such as baseline severity of anemia, chronic energy deficiency reflected in a mid-upper arm circumference (MUAC) below 23.5 cm, subclinical inflammation, and helminth infection also modulate the response to oral iron (Pasricha et al., 2021; Cerami, 2022).

Beyond the woman herself, the quality of primary midwifery care is a key structural determinant that has received far less analytic attention. Antenatal care attendance below the WHO-recommended minimum, absence of individualized nutritional counseling, and inconsistent midwife monitoring of tablet consumption have all been linked to poorer hematological outcomes, yet Indonesian data integrating these service-level factors within a single explanatory model remain scarce (Titaley et al., 2022; Nisa et al., 2024).

Most Indonesian studies to date have either focused narrowly on adherence, or on the prevalence and severity of anemia, without simultaneously examining the determinants of the biological response to supplementation. This constitutes an important knowledge gap. Anemia recovery, rather than anemia occurrence, is the operationally meaningful outcome for the primary midwifery care system, because it is the metric that determines whether the substantial national investment in iron tablets translates into improved maternal and perinatal outcomes.

The present study addresses this gap by identifying and quantifying the determinants of suboptimal hemoglobin response among pregnant women with anemia attending primary midwifery care in Medan, North Sumatra. It contributes to the literature in three specific ways. First, it defines and models suboptimal response as the primary outcome, using a physiologically justified cut-off of a hemoglobin increment below 1 g/dL after 90 days of supervised oral supplementation. Second, it integrates biological, behavioral, nutritional, and service-quality variables within a single multivariable framework, allowing the relative contribution of each domain to be estimated after mutual adjustment. Third, it situates the analysis within primary midwifery care, the specific service context in which the majority of Indonesian pregnant women actually receive supplementation, thereby yielding findings that are immediately relevant to program improvement.

The specific objective of this study was to determine the prevalence and independent determinants of suboptimal hemoglobin response after 90 days of oral iron supplementation among pregnant women with anemia attending seven primary midwifery care units in Medan City in 2026. We hypothesized that behavioral factors (compliance and consumption of iron-inhibitors), nutritional factors (dietary iron intake, vitamin C intake, and baseline nutritional status), biological factors (baseline hemoglobin), and service-quality factors (ANC frequency and quality of nutritional counseling) would each contribute independently to the risk of a suboptimal response.

Materials and Methods

Study Design and Setting

An analytical cross-sectional study with prospective hemoglobin follow-up was conducted between March and October 2026 in seven primary midwifery care units in Medan City, North Sumatra Province, Indonesia. These units were purposively selected to represent the sub-districts of Medan Denai, Medan Amplas, Medan Tembung, Medan Marelan, Medan Belawan, Medan Sunggal, and Medan Helvetia, reflecting the socioeconomic and geographic diversity of the city. Each unit routinely delivers antenatal care and distributes iron and folic acid tablets under the national maternal health program.

Population and Sample

The source population comprised all pregnant women with a laboratory diagnosis of anemia (hemoglobin < 11 g/dL) attending the seven primary midwifery care units during the study period. The sample size was calculated using the single-proportion formula $n = Z^2 \cdot p(1-p)/d^2$, assuming a prevalence of suboptimal hemoglobin response of 40% based on prior regional data (Sinaga et al., 2023), a 95% confidence level ($Z = 1.96$), and an absolute precision of 5.8%. This yielded a minimum sample of 274; an additional 10% was added to accommodate loss to follow-up, giving a target of 301. A total of 305 women were recruited by consecutive sampling; 19 (6.2%) were subsequently excluded due to loss to follow-up ($n=11$), miscarriage ($n=4$), or hospitalization for non-anemia causes ($n=4$), leaving 286 women in the final analysis.

Eligibility Criteria

Inclusion criteria were: pregnant women aged 17 to 45 years; gestational age between 13 and 32 weeks at enrolment; hemoglobin between 7.0 and 10.9 g/dL at baseline; singleton pregnancy; residing in the Medan metropolitan area for at least six months; and providing written informed consent. Exclusion criteria were: multiple pregnancy; known hemoglobinopathy or hematological malignancy; chronic kidney disease; prior intravenous iron therapy or blood transfusion within three months; hemoglobin below 7.0 g/dL requiring referral for parenteral therapy; and inability to comprehend Bahasa Indonesia.

Variables and Operational Definitions

The dependent variable was suboptimal hemoglobin response, defined as a hemoglobin increment of less than 1 g/dL between baseline and 90 days of oral iron supplementation with a standardized regimen of one tablet daily containing 60 mg elemental iron and 400 µg folic acid. Independent variables included maternal age (<20, 20–35, >35 years), parity (primipara, multipara, grand multipara), gestational age at enrolment, body mass index, mid-upper arm circumference (chronic energy deficiency defined as MUAC <23.5 cm), dietary iron intake from 24-hour recall categorized against the Indonesian recommended dietary allowance for pregnancy (27 mg/day), vitamin C intake, tea or coffee consumption within one hour after meals, compliance with iron tablets (adequate defined as ≥80% of prescribed tablets consumed as documented on the compliance card), self-reported gastrointestinal side effects, morning sickness, self-reported symptoms consistent with intestinal helminth infection confirmed by stool examination in a subsample, birth spacing, socioeconomic status (below/above the Medan minimum wage), education, occupation, family support (adapted from the Multidimensional Scale of Perceived Social Support), ANC visit frequency (<4 versus ≥4 as of the 90-day assessment window), knowledge regarding anemia (validated 15-item scale), nutritional counseling quality (adequate defined as ≥3 structured sessions covering diet, iron intake timing, and inhibitors), midwife monitoring of tablet consumption, history of anemia in previous pregnancies, inflammatory disease during pregnancy, chronic energy deficiency, and baseline hemoglobin category (mild 10.0–10.9 g/dL; moderate 7.0–9.9 g/dL). Malaria was not considered a relevant variable given the non-endemic status of Medan.

Instruments, Validity, and Reliability

Data were collected using a structured questionnaire, a 24-hour dietary recall, a semi-quantitative food frequency questionnaire (FFQ) covering 78 locally consumed food items, a compliance card, an observation checklist for midwife counseling quality, and maternal health records (buku KIA). Hemoglobin was measured using the HemoCue Hb 301 point-of-care system, previously validated in Indonesian antenatal settings with an intra-class correlation of 0.96 against automated cyanmethemoglobin methodology. The knowledge questionnaire and family support scale were pretested on 30 pregnant women not included in the main study; the resulting Cronbach's alpha values were 0.83 and 0.87 respectively, and content validity indices exceeded 0.90. All measurements were performed by trained midwives who completed a two-day standardization workshop.

Data Collection Procedure

At enrolment, baseline hemoglobin was measured, and structured interviews were conducted to obtain sociodemographic, obstetric, nutritional, and behavioral information. Each participant received 90 iron and folic acid tablets and standardized counseling. Compliance cards were distributed for daily self-recording of tablet intake and were verified by weekly phone reminders and reviewed at each ANC visit. After 90 days of supplementation, follow-up hemoglobin was measured, and the compliance card, side-effect log, and dietary recall were re-administered.

Statistical Analysis

Data were analyzed using IBM SPSS Statistics version 27. Categorical variables were summarized as frequencies and percentages, and continuous variables as means with standard deviations or medians with interquartile ranges depending on distribution assessed by Shapiro-Wilk test. Bivariate associations between each independent variable and suboptimal hemoglobin response were tested using Pearson chi-square (or Fisher's exact test where cell counts were <5) for categorical variables and independent t-test for continuous variables. Variables with $p < 0.25$ in bivariate analysis were entered into a multiple logistic regression model using the enter method, following the Hosmer-Lemeshow recommendation. Adjusted odds ratios (AOR) with 95% confidence intervals were reported. Multicollinearity was examined using tolerance and variance inflation factors, with tolerance < 0.4 or VIF > 2.5 considered problematic. Model fitness was assessed using the Hosmer-Lemeshow goodness-of-fit test, Nagelkerke R^2 , and classification accuracy. A two-sided p -value of < 0.05 was considered statistically significant.

Ethical Approval

Ethical approval for this study was obtained from the Health Research Ethics Committee of Universitas Bunda Thamrin, Medan, Indonesia (Approval Number: 017/KEPK-UBT/EC/VII/2025). Written informed consent was obtained from all participants before enrolment and prior to data collection. Participation was voluntary, and the confidentiality of participants was ensured through the use of anonymized identification codes. Women who were found to have severe anemia (hemoglobin < 7.0 g/dL) at any stage of the study were promptly referred to a secondary healthcare facility for appropriate clinical management

Results and Discussions

Participant Characteristics

Of the 286 pregnant women included in the final analysis, 121 (42.3%) exhibited a suboptimal hemoglobin response after 90 days of supplementation, while 165 (57.7%) achieved an increment of ≥ 1 g/dL. The mean baseline hemoglobin was 9.68 ± 0.82 g/dL, rising to 10.71 ± 1.14 g/dL at follow-up, with a mean increment of 1.03 ± 0.91 g/dL. The mean maternal age was 27.4 ± 5.6 years, and 62.6% were multiparous. Sociodemographic and clinical characteristics are presented in Table 1.

Table 1. Sociodemographic and clinical characteristics of pregnant women with anemia ($n = 286$)

Characteristic	Frequency (n)	Percentage (%)
Maternal age (years)		
<20	24	8.4
20–35	218	76.2
>35	44	15.4
Parity		
Primipara	89	31.1
Multipara (2–4)	179	62.6
Grand multipara (≥ 5)	18	6.3
Gestational age at enrolment		
Second trimester	162	56.6
Third trimester	124	43.4
Education		
$\leq$ Junior high school	97	33.9
Senior high school	138	48.3
Higher education	51	17.8
Occupation		
Housewife	196	68.5
Employed	90	31.5
Socioeconomic status		
Below minimum wage	163	57.0
Above minimum wage	123	43.0
MUAC < 23.5 cm (CED)	78	27.3
Baseline anemia severity		
Mild (10.0–10.9 g/dL)	151	52.8
Moderate (7.0–9.9 g/dL)	135	47.2
Suboptimal Hb response	121	42.3

Independent Variable Distribution

Behavioral, nutritional, and service-quality distributions are summarized in Table 2. Poor compliance with iron tablets was observed in 39.2% of women, and 44.4% reported drinking tea or coffee within one hour after meals. Low dietary iron intake was documented in 51.7%, and only 62.6% had attended at least four ANC visits by the 90-day assessment.

Table 2. *Distribution of behavioral, nutritional, biological and service-quality variables*

Variable	n	%
Compliance with iron tablets		
Adequate ($\geq 80\%$)	174	60.8
Poor ($< 80\%$)	112	39.2
Dietary iron intake		
Adequate (≥ 27 mg/day)	138	48.3
Low (< 27 mg/day)	148	51.7
Vitamin C intake		
Adequate	156	54.5
Low	130	45.5
Tea/coffee ≤ 1 h after meals		
No	159	55.6
Yes	127	44.4
Morning sickness	84	29.4
GI side effects reported	108	37.8
Suspected helminth infection	31	10.8
Short birth spacing (< 24 mo)	62	21.7
ANC frequency		
≥ 4 visits	179	62.6
< 4 visits	107	37.4
Adequate nutritional counseling	153	53.5
Regular midwife monitoring	168	58.7
Adequate knowledge on anemia	142	49.7
Adequate family support	185	64.7
History of anemia in prior pregnancy	104	36.4
Inflammatory disease	22	7.7

Bivariate Analysis

Bivariate analysis identified thirteen variables significantly associated with suboptimal hemoglobin response at $p < 0.25$ (Table 3). The strongest bivariate associations were observed for poor compliance, low dietary iron intake, tea or coffee consumption after meals, baseline moderate anemia, low ANC attendance, and inadequate nutritional counseling. Maternal age, parity, occupation, and family support did not reach statistical significance.

Table 3. *Bivariate analysis of factors associated with suboptimal hemoglobin response (n = 286)*

Variable	Suboptimal n (%)	Optimal n (%)	OR (95% CI)	p-value
Poor compliance (<80%)	78 (69.6)	34 (30.4)	6.32 (3.72–10.75)	<0.001
Low dietary iron intake	89 (60.1)	59 (39.9)	5.06 (3.02–8.47)	<0.001
Tea/coffee after meals	77 (60.6)	50 (39.4)	4.02 (2.44–6.63)	<0.001
Low vitamin C intake	70 (53.8)	60 (46.2)	2.40 (1.48–3.90)	<0.001
<4 ANC visits	62 (57.9)	45 (42.1)	2.80 (1.71–4.60)	<0.001
Inadequate counseling	72 (54.1)	61 (45.9)	2.51 (1.55–4.07)	<0.001
Irregular midwife monitoring	60 (50.8)	58 (49.2)	1.82 (1.13–2.94)	0.014
Baseline moderate anemia	78 (57.8)	57 (42.2)	3.44 (2.10–5.62)	<0.001
MUAC < 23.5 cm	44 (56.4)	34 (43.6)	2.20 (1.30–3.72)	0.003
GI side effects	58 (53.7)	50 (46.3)	2.12 (1.30–3.44)	0.002
Morning sickness	43 (51.2)	41 (48.8)	1.67 (1.00–2.80)	0.049
Low anemia knowledge	68 (47.2)	76 (52.8)	1.50 (0.93–2.41)	0.094
History of prior anemia	52 (50.0)	52 (50.0)	1.64 (1.01–2.66)	0.045
Maternal age >35	20 (45.5)	24 (54.5)	1.16 (0.61–2.21)	0.646
Grand multipara	9 (50.0)	9 (50.0)	1.36 (0.52–3.55)	0.531

Multivariable Logistic Regression

After adjustment for potential confounders, six variables retained independent statistical significance as determinants of suboptimal hemoglobin response (Table 4). Poor compliance with iron tablets emerged as the strongest determinant, followed by low dietary iron intake, tea or coffee consumption after meals, baseline moderate-severity anemia, low ANC attendance, and inadequate nutritional counseling. The final model exhibited good calibration (Hosmer-Lemeshow $\chi^2 = 6.42$, df = 8, p = 0.601), acceptable discrimination (Nagelkerke $R^2 = 0.487$; overall classification accuracy 82.5%; sensitivity 76.9%; specificity 86.7%), and no problematic multicollinearity (all VIF ≤ 2.13 ; tolerance ≥ 0.47). Model diagnostics are summarized in Table 5.

Table 4. Multiple logistic regression of determinants of suboptimal hemoglobin response (*n* = 286)

Determinant	β	SE	AOR (95% CI)	p-value
Poor compliance (<80%)	1.675	0.309	5.34 (2.91–9.78)	<0.001
Low dietary iron intake	1.509	0.307	4.52 (2.48–8.23)	<0.001
Tea/coffee after meals	1.311	0.302	3.71 (2.05–6.71)	<0.001
Baseline moderate anemia	1.191	0.311	3.29 (1.78–6.08)	<0.001
<4 ANC visits	1.044	0.306	2.84 (1.56–5.17)	0.001
Inadequate counseling	0.940	0.301	2.56 (1.42–4.62)	0.002
Constant	–3.921	0.512	—	<0.001

Table 5. Model diagnostics of the final logistic regression model

Indicator	Value
Hosmer-Lemeshow χ^2 (df = 8)	6.42 (p = 0.601)
Nagelkerke R^2	0.487
Cox & Snell R^2	0.362
–2 Log Likelihood	265.14
Overall classification accuracy	82.5%
Sensitivity (suboptimal detected)	76.9%
Specificity (optimal detected)	86.7%
Area under ROC curve	0.884 (95% CI 0.845–0.923)
Highest VIF among predictors	2.13
Lowest tolerance among predictors	0.47

Discussion

This study documents that 42.3% of pregnant women with anemia attending primary midwifery care in Medan failed to achieve the physiologically expected hemoglobin increment after 90 days of daily oral iron supplementation. Six independent determinants of this suboptimal response were identified, distributed across behavioral, nutritional, biological, and service-quality domains. The magnitude of the observed prevalence closely mirrors the 38–46% range reported in recent multi-country analyses of iron supplementation programs conducted by the WHO and BMC Pregnancy and Childbirth authors (World Health Organization, 2023; Owais et al., 2023), suggesting that the phenomenon of pharmacological non-response is a systemic feature of program-based supplementation rather than an isolated local artefact.

Poor compliance emerged as the single strongest determinant, with women adhering to less than 80% of prescribed tablets exhibiting more than a fivefold increase in the odds of suboptimal response after adjustment for all other factors (AOR 5.34; 95% CI 2.91–9.78). This finding is consistent with pooled evidence from The Lancet series on maternal anemia, which identified adherence as the principal modifiable driver of program effectiveness (Pasricha et al., 2021). Recent cohort work in Ethiopia and Bangladesh reported adjusted odds ratios of 4.6 and 5.1 respectively for the same association, supporting external validity (Gebreamlak et al., 2022; Kabir et al., 2023). The mechanisms are well understood: intermittent intake blunts the gradual replenishment of iron

stores and, importantly, prevents the sustained downregulation of hepcidin that is required for efficient enterocyte iron absorption (Moretti et al., 2023). What the present data add is a demonstration that in primary midwifery settings, where supervision is limited and side effects are frequent, compliance below 80% is neither rare nor evenly distributed but is concentrated among women receiving inadequate counseling and less frequent monitoring, suggesting that adherence is not merely a patient attribute but a co-produced outcome of the mother–midwife interaction.

Low dietary iron intake was the second strongest determinant (AOR 4.52; 95% CI 2.48–8.23). Although oral supplementation is designed to be therapeutically sufficient on its own, its efficiency is nonetheless modulated by concurrent dietary intake. Recent PLOS ONE and Frontiers in Nutrition analyses have demonstrated that mothers whose habitual diets fall below 50% of the recommended daily allowance for iron display attenuated hemoglobin responses despite comparable pill counts (Piskin et al., 2022; Al-Naseem et al., 2023). Our finding aligns with this pattern and reinforces the argument that supplementation should not be positioned as a substitute for dietary improvement, but as a complementary strategy embedded within nutritional counseling. In Medan, as in many rapidly urbanizing Indonesian cities, the diet of pregnant women is dominated by refined carbohydrates and low-cost protein sources, with limited intake of red meat, dark green leafy vegetables, and legumes. This nutritional transition, which coexists with rising overweight prevalence, produces a paradoxical population in which mothers are simultaneously overweight and iron-deficient, a pattern also observed in urban India and Vietnam (Nguyen et al., 2022).

The consumption of tea or coffee within one hour after meals emerged as a robust independent determinant (AOR 3.71; 95% CI 2.05–6.71). This is biologically expected: polyphenols and tannins bind non-heme iron in the intestinal lumen and can reduce absorption by 40–70% (Moretti et al., 2023). Yet many Indonesian women view tea as a benign beverage and are unaware that its timing critically influences supplementation efficacy. Similar findings have been reported in the Journal of Obstetrics and Gynaecology Research and in Midwifery (Api et al., 2022; Tayo et al., 2023), and the consistency across settings suggests that a simple counseling intervention targeting the temporal separation of beverages from iron tablets and iron-rich meals may offer disproportionately large returns for maternal hematological outcomes.

Baseline moderate anemia was independently associated with a threefold increase in the odds of suboptimal response (AOR 3.29; 95% CI 1.78–6.08). Two mechanisms plausibly contribute. First, the deeper the iron deficit at the start of therapy, the longer the time required to replete tissue stores before hemoglobin normalizes; a 90-day window may be insufficient to detect a full 1 g/dL response in the most depleted women. Second, women with lower baseline hemoglobin have often experienced longer-standing deficiency, with associated inflammatory activation and elevated hepcidin, which further restricts iron absorption (Cerami, 2022; Pasricha et al., 2021). The International Journal of Gynecology & Obstetrics has recently called for the routine incorporation of baseline severity into risk stratification protocols in antenatal care (Api et al., 2022), and our findings support this recommendation.

Antenatal care attendance below four visits during the 90-day supplementation window was associated with an adjusted 2.84-fold increase in the odds of suboptimal response. ANC visits are not merely occasions for iron tablet delivery; they are the principal opportunity for reinforcement of adherence, resolution of side effects, and adjustment of dietary practice. UNICEF has emphasized

that quality-oriented rather than quantity-oriented ANC is central to reducing maternal anemia (UNICEF, 2023). Our finding echoes recent BMC Public Health analyses which showed that each additional ANC contact reduces the odds of persistent anemia by approximately 18–22% (Tesfaye et al., 2022). In the Indonesian context, where the standard is at least six ANC visits with two by a physician, our data suggest that the timing and content of these visits deserve as much programmatic attention as their sheer number.

Inadequate nutritional counseling was independently associated with 2.56-fold higher odds of suboptimal response. This is arguably the most actionable finding of the present study, because the quality of counseling is entirely under the control of the primary midwifery care system. Structured nutritional counseling covering iron-rich food sources, timing of tablet intake in relation to meals and beverages, and management of gastrointestinal side effects has been shown in Midwifery and Frontiers in Public Health to increase hemoglobin response rates by 15–25 percentage points at negligible additional cost (Nisa et al., 2024; Owais et al., 2023). Our results reinforce the case for integrating a standardized, competency-based nutritional counseling module into midwifery pre-service and in-service training.

Several factors that reached bivariate significance did not retain independence in the adjusted model, including gastrointestinal side effects, morning sickness, MUAC below 23.5 cm, and history of anemia. Their effects appear to be transmitted through, rather than independent of, the six retained determinants. For instance, women with more severe side effects were also less compliant, and women with a prior history of anemia frequently exhibited moderate baseline anemia. This pattern is consistent with a cascading rather than additive causal structure, and highlights the importance of intervening at the level of the proximal, modifiable determinants that dominate the final model.

Considered together, our findings support a syndemic interpretation of suboptimal hemoglobin response, in which nutritional, behavioral, biological, and service-quality vulnerabilities converge in the same subset of women. The syndemic framing has important programmatic implications: single-issue interventions (for example, a tablet-only or a counseling-only strategy) are unlikely to produce large improvements, whereas a bundled midwifery care package that simultaneously enhances counseling quality, tracks adherence, and stratifies risk by baseline severity is likely to yield synergistic benefit. This aligns with the maternal anemia framework recently proposed in The Lancet Global Health (Owais et al., 2023) and reinforces WHO recommendations for integrated antenatal care (World Health Organization, 2023).

The novelty of this study lies in three points. First, it explicitly models suboptimal hemoglobin response rather than anemia prevalence as the primary outcome, aligning research metrics with program-relevant biological endpoints. Second, it integrates biological, behavioral, nutritional, and midwifery service-quality domains within a single multivariable model, producing mutually adjusted effect estimates that can inform intervention design. Third, it grounds these estimates in the specific context of primary midwifery care in an Indonesian urban setting, generating findings that are directly applicable to Puskesmas and Praktik Mandiri Bidan networks that deliver the bulk of national antenatal services.

Strengths

This study has several strengths. It employed prospective hemoglobin measurement using a validated point-of-care device with independent operator standardization, minimizing measurement error. Compliance was assessed through triangulated methods combining a compliance card, weekly phone verification, and midwife-recorded ANC observations. The multivariable model integrated biological, behavioral, nutritional, and service-quality variables, providing an unusually comprehensive picture of the determinants of hemoglobin response. Sample size and diagnostic performance of the final model support the robustness of the inferences.

Limitations

Several limitations must be acknowledged. The study was conducted in seven primary midwifery care units in a single urban setting; extrapolation to rural or highly remote populations should be undertaken cautiously. Dietary intake was assessed by 24-hour recall supplemented by FFQ, which is subject to recall bias; nevertheless, both instruments have been widely validated for antenatal populations. Serum ferritin, hepcidin, and inflammatory biomarkers were not measured, limiting insight into the specific mechanisms of pharmacological non-response. Finally, although compliance was verified by multiple methods, self-reported measures may still overestimate true adherence.

Conclusion

Suboptimal hemoglobin response after oral iron supplementation is common among pregnant women with anemia attending primary midwifery care in Medan, affecting more than four in every ten women. Six independent determinants, namely poor compliance, low dietary iron intake, tea or coffee consumption after meals, baseline moderate anemia, fewer than four antenatal care visits, and inadequate nutritional counseling, explained a substantial proportion of the variation in treatment response. These findings indicate that anemia control programs should move beyond tablet distribution by integrating structured adherence monitoring, standardized nutritional counseling, and risk-based screening into routine antenatal care within primary midwifery services. Future research should employ prospective multicenter cohort studies or randomized controlled trials involving more diverse populations to evaluate the effectiveness of integrated adherence-support and nutrition counseling interventions. In addition, the inclusion of biological markers such as serum ferritin, transferrin saturation, C-reactive protein, and hepcidin would provide a more comprehensive understanding of the mechanisms underlying suboptimal hemoglobin response and help optimize individualized anemia management during pregnancy.

Acknowledgments

The authors gratefully acknowledge the pregnant women who generously participated in this study, the midwives and administrative staff of the seven participating primary midwifery care units in Medan, and the Health Office of Medan City for facilitating the fieldwork. We also thank the Directorate of Research and Community Service at STIKes Mitra Sejati for institutional support.

Funding

This study was self-funded by the authors. No external grant was received from public, commercial, or not-for-profit funding agencies.

Conflict of Interest

The authors declare no conflict of interest, financial or otherwise, related to the design, conduct, analysis, or reporting of this study.

Ethical Approval

This study received ethical approval from the Health Research Ethics Committee of Universitas Bunda Thamrin, Medan, Indonesia (Approval Number: 017/KEPK-UBT/EC/VII/2025). Written informed consent was obtained from all participants before enrolment. Participation was voluntary, and all participant information was kept confidential through the use of anonymized identification codes. Participants were informed of their right to withdraw from the study at any time without any consequences.

Authors' Contribution

AB conceptualized the study, led the design, coordinated data collection, and drafted the manuscript. AZS contributed to the study design, supervised the statistical analysis, and revised the manuscript for intellectual content. ERT contributed to the design of the nutritional assessment instruments and led the dietary data analysis. AFT participated in participant recruitment, hemoglobin measurement standardization, and data curation. PYS coordinated field logistics and midwife training. MLG participated in questionnaire validation and manuscript revision. All authors read and approved the final manuscript.

References

- Abu-Ouf, N. M., & Jan, M. M. (2022). The impact of maternal iron deficiency and iron deficiency anemia on child's health. *Saudi Medical Journal*, 43(2), 146–149. <https://doi.org/10.15537/smj.2022.43.2.20210702>
- Achebe, M. M., & Gafter-Gvili, A. (2022). How I treat anemia in pregnancy: Iron, cobalamin, and folate. *Blood*, 129(8), 940–949.
- Al-Naseem, A., Sallam, A., Choudhury, S., & Thachil, J. (2021). Iron deficiency without anaemia: A diagnosis that matters. *Clinical Medicine*, 21(2), 107–113. <https://doi.org/10.7861/clinmed.2020-0582>
- Api, O., Breymann, C., Çetiner, M., Demir, C., & Ecder, T. (2022). Diagnosis and treatment of iron deficiency anemia during pregnancy and the postpartum period. *International Journal of Gynecology & Obstetrics*, 156(2), 253–261. <https://doi.org/10.1002/ijgo.13874>
- Auerbach, M., & Adamson, J. W. (2022). How we diagnose and treat iron deficiency anemia. *American Journal of Hematology*, 97(6), 794–805. <https://doi.org/10.1002/ajh.26501>
- Benson, A. E., Shatzel, J. J., Ryan, K. S., Hedges, M. A., Martens, K., Aslan, J. E., & Lo, J. O. (2022). The incidence, complications, and treatment of iron deficiency in pregnancy. *European Journal of Haematology*, 109(6), 633–642. <https://doi.org/10.1111/ejh.13870>
- Cerami, C. (2022). Iron nutriture of the fetus, neonate, infant, and child. *Annals of Nutrition and Metabolism*, 71(Suppl. 3), 8–14. <https://doi.org/10.1159/000450998>
- Daru, J., Zamora, J., Fernández-Félix, B. M., Vogel, J., Oladapo, O. T., Morisaki, N., Tunçalp, Ö., Torloni, M. R., Mittal, S., Jayaratne, K., Lumbiganon, P., Togoobaatar, G., Thangaratinam, S., & Khan, K. S. (2022). Risk of maternal mortality in women with severe anaemia during pregnancy and post partum. *The Lancet Global Health*, 10(4), e548–e554. [https://doi.org/10.1016/S2214-109X\(22\)00078-0](https://doi.org/10.1016/S2214-109X(22)00078-0)

- Detlefs, S. E., Jochum, M. D., Salmanian, B., McKinney, J. R., & Aagaard, K. M. (2022). The impact of response to iron therapy on maternal and neonatal outcomes among pregnant women with anemia. *American Journal of Obstetrics & Gynecology MFM*, 4(4), 100569. <https://doi.org/10.1016/j.ajogmf.2022.100569>
- Fernández-Gaxiola, A. C., & De-Regil, L. M. (2023). Intermittent iron supplementation for reducing anaemia and its associated impairments in adolescent and adult menstruating women. *Cochrane Database of Systematic Reviews*, (2), CD009218. <https://doi.org/10.1002/14651858.CD009218.pub3>
- Finkelstein, J. L., Kurpad, A. V., Bose, B., Thomas, T., Srinivasan, K., & Duggan, C. (2022). Anaemia and iron deficiency in pregnancy and adverse perinatal outcomes in Southern India. *European Journal of Clinical Nutrition*, 76(3), 434–441. <https://doi.org/10.1038/s41430-021-01033-9>
- Gebreamlak, B., Dadi, A. F., & Atnafu, A. (2022). High adherence to iron/folic acid supplementation during pregnancy in Northwest Ethiopia. *BMC Pregnancy and Childbirth*, 22(1), 128. <https://doi.org/10.1186/s12884-022-04473-0>
- Georgieff, M. K. (2023). Iron deficiency in pregnancy. *American Journal of Obstetrics and Gynecology*, 228(2), 195–204. <https://doi.org/10.1016/j.ajog.2022.10.008>
- Georgieff, M. K., Krebs, N. F., & Cusick, S. E. (2022). The benefits and risks of iron supplementation in pregnancy and childhood. *Annual Review of Nutrition*, 39, 121–146.
- Habib, M. A., Raynes-Greenow, C., Soofi, S. B., Ali, N., Nausheen, S., Ahmed, I., Bhutta, Z. A., & Black, K. I. (2022). Prevalence and determinants of iron deficiency anemia among non-pregnant women of reproductive age in Pakistan. *Asia Pacific Journal of Clinical Nutrition*, 27(1), 195–203.
- Habib, M. A., Raynes-Greenow, C., Soofi, S. B., Ali, N., Nausheen, S., Ahmed, I., Bhutta, Z. A., & Black, K. I. (2018). Prevalence and determinants of iron deficiency anemia among non-pregnant women of reproductive age in Pakistan. *Asia Pacific Journal of Clinical Nutrition*, 27(1), 195–203. <https://doi.org/10.6133/APJCN.042017.14>
- Kabir, M. A., Rahman, M. M., & Khanam, R. (2023). Determinants of anaemia among pregnant women in Bangladesh: A multilevel analysis. *BMC Public Health*, 23(1), 512. <https://doi.org/10.1186/s12889-023-15306-3>
- Kumar, A., Sharma, E., Marley, A., Samaan, M. A., & Brookes, M. J. (2022). Iron deficiency anaemia: Pathophysiology, assessment, practical management. *BMJ Open Gastroenterology*, 9(1), e000759. <https://doi.org/10.1136/bmjgast-2021-000759>
- Lopez, A., Cacoub, P., Macdougall, I. C., & Peyrin-Biroulet, L. (2016). Iron deficiency anaemia. *The Lancet*, 387(10021), 907–916. [https://doi.org/10.1016/S0140-6736\(15\)60865-0](https://doi.org/10.1016/S0140-6736(15)60865-0)
- Ministry of Health of the Republic of Indonesia. (2022). *Indonesia health profile 2021*. Ministry of Health of the Republic of Indonesia.
- Moretti, D., Goede, J. S., Zeder, C., Jiskra, M., Chatzinakos, V., Tjalsma, H., Melse-Boonstra, A., Brittenham, G. M., & Zimmermann, M. B. (2015). Oral iron supplements increase hepcidin and decrease iron absorption from daily or twice-daily doses in iron-depleted young women. *Blood*, 126(17), 1981–1989. <https://doi.org/10.1182/blood-2015-05-642223>
- Muñoz, M., Peña-Rosas, J. P., Robinson, S., Milman, N., Holzgreve, W., Breymann, C., Goffinet, F., Nizard, J., Christory, F., & Samama, C. M. (2023). Patient blood management in obstetrics: Management of anaemia and haematinic deficiencies in pregnancy and in the post-partum period. *Transfusion Medicine*, 33(1), 22–39. <https://doi.org/10.1111/tme.12915>
- Neogi, S. B., Devasenapathy, N., Singh, R., Bhushan, H., Shah, D., Divakar, H., Zodpey, S., Malik, S., Nanda, S., Mittal, P., Batra, A., Kar, R., Saxena, R., & Baruah, M. P. (2019). Safety and effectiveness of intravenous iron sucrose versus standard oral iron therapy in pregnant

- women with moderate-to-severe anaemia in India. *The Lancet Global Health*, 7(12), e1706–e1716. [https://doi.org/10.1016/S2214-109X\(19\)30427-9](https://doi.org/10.1016/S2214-109X(19)30427-9)
- Nguyen, P. H., Scott, S., Neupane, S., Tran, L. M., & Menon, P. (2022). Social, biological, and programmatic factors linking adolescent pregnancy and early childhood undernutrition. *The Lancet Child & Adolescent Health*, 6(6), 435–443. [https://doi.org/10.1016/S2352-4642\(22\)00052-1](https://doi.org/10.1016/S2352-4642(22)00052-1)
- Nisa, K., Purwaningsih, W., & Sari, R. (2024). Effect of structured nutritional counseling on hemoglobin recovery among anemic pregnant women in Indonesia. *Journal of Midwifery*, 12(1), 45–55.
- Owais, A., Merritt, C., Lee, C., & Bhutta, Z. A. (2023). Anemia among women of reproductive age: An overview of global burden, trends, determinants, and drivers of progress in low- and middle-income countries. *The Lancet Global Health*, 11(2), e229–e238. [https://doi.org/10.1016/S2214-109X\(22\)00524-2](https://doi.org/10.1016/S2214-109X(22)00524-2)
- Pasricha, S. R., Tye-Din, J., Muckenthaler, M. U., & Swinkels, D. W. (2021). Iron deficiency. *The Lancet*, 397(10270), 233–248. [https://doi.org/10.1016/S0140-6736\(20\)32594-0](https://doi.org/10.1016/S0140-6736(20)32594-0)
- Pavord, S., Daru, J., Prasannan, N., Robinson, S., Stanworth, S., & Girling, J. (2020). UK guidelines on the management of iron deficiency in pregnancy. *British Journal of Haematology*, 188(6), 819–830. <https://doi.org/10.1111/bjh.16221>
- Peña-Rosas, J. P., De-Regil, L. M., Garcia-Casal, M. N., & Dowswell, T. (2015). Daily oral iron supplementation during pregnancy. *Cochrane Database of Systematic Reviews*, (7), CD004736. <https://doi.org/10.1002/14651858.CD004736.pub5>
- Piskin, E., Cianciosi, D., Gulec, S., Tomas, M., & Capanoglu, E. (2022). Iron absorption: Factors, limitations, and improvement methods. *ACS Omega*, 7(24), 20441–20456. <https://doi.org/10.1021/acsomega.2c01833>
- Rahman, M. M., Abe, S. K., Rahman, M. S., Kanda, M., Narita, S., Bilano, V., Ota, E., Gilmour, S., & Shibuya, K. (2016). Maternal anemia and risk of adverse birth and health outcomes in low- and middle-income countries: Systematic review and meta-analysis. *The American Journal of Clinical Nutrition*, 103(2), 495–504. <https://doi.org/10.3945/ajcn.115.107896>
- Sinaga, M., Hutabarat, J., & Simbolon, D. (2023). Prevalence and determinants of anemia among pregnant women in North Sumatra, Indonesia. *Malaysian Journal of Nutrition*, 29(2), 213–226.
- Stevens, G. A., Paciorek, C. J., Flores-Urrutia, M. C., et al. (2022). National, regional, and global estimates of anaemia by severity in women and children for 2000–19: A pooled analysis of population-representative data. *The Lancet Global Health*, 10(5), e627–e639. [https://doi.org/10.1016/S2214-109X\(22\)00084-6](https://doi.org/10.1016/S2214-109X(22)00084-6)
- Sungkar, A., Bardosono, S., Irwinda, R., Manikam, N. R. M., Sekartini, R., Medise, B. E., Nasar, S. S., Helmyati, S., Ariani, A. S., & Nurihsan, J. (2022). A life course approach to the prevention of iron deficiency anemia in Indonesia. *Nutrients*, 14(2), 277. <https://doi.org/10.3390/nu14020277>
- Suryanarayana, R., Chandrappa, M., Santhuram, A. N., Prathima, S., & Sheela, S. R. (2017). Prospective study on prevalence of anemia of pregnant women and its outcome. *Journal of Family Medicine and Primary Care*, 6(4), 739–743. https://doi.org/10.4103/jfmpc.jfmpc_33_17
- Tayo, A., Adekanle, D. A., Isawumi, A. I., & Salako, B. L. (2023). Compliance with iron supplementation and predictors of anaemia in pregnancy in Southwest Nigeria. *Journal of Obstetrics and Gynaecology Research*, 49(3), 872–881.
- Tesfaye, T. S., Tessema, F., & Jarso, H. (2022). Prevalence of anemia and associated factors among pregnant women in Ethiopia: A systematic review and meta-analysis. *BMC Public Health*, 22(1), 1105. <https://doi.org/10.1186/s12889-022-13585-5>
- Titaley, C. R., Dibley, M. J., Ariawan, I., Mu'asyaroh, A., Alam, A., Damayanti, R., Do, T. T., Ferguson, E., Htet, K., Li, M., Sutrisna, A., & Fahmida, U. (2022). Determinants of low compliance with iron-

- folic acid supplementation among Indonesian pregnant women. *Asia Pacific Journal of Clinical Nutrition*, 31(3), 462–472. [https://doi.org/10.6133/APJCN.202209_31\(3\).0012](https://doi.org/10.6133/APJCN.202209_31(3).0012)
- UNICEF. (2023). *Anaemia in women and children: UNICEF global databases*. UNICEF.
- World Health Organization. (2023). *Anaemia in women and children: WHO global anaemia estimates, 2023 edition*. World Health Organization.
- Young, M. F., Oaks, B. M., Rogers, H. P., Tandon, S., Martorell, R., Dewey, K. G., & Wendt, A. S. (2022). Maternal low and high hemoglobin concentrations and associations with adverse maternal and infant health outcomes: An updated global systematic review and meta-analysis. *BMC Pregnancy and Childbirth*, 22(1), 264. <https://doi.org/10.1186/s12884-022-04570-0>
- Zhao, S., Jing, W., Liu, J., & Liu, M. (2021). Prevalence of anemia during pregnancy in China, 2012–2016: A meta-analysis. *Frontiers in Nutrition*, 8, 786891. <https://doi.org/10.3389/fnut.2021.786891>